





1,200

N—?

1,000
800
2
< 600
400 -
200 -
O _
H H10 H15 H20
( ‘ha)
H | H5 | H10 | H15 | H20 ()
(H20/H )
(D 525 530 682 696 962  (183%
(D] 2504 2530 2,866 2948 3494  (140%

N




























: /

Y VAN

£\ /N

A AR VIR VIR V)

SRR VR Vi
S TR VR VR












H24 24 27 31 82
H25 23 23 26 72
H26 24 - - 24

16












(T&%4/aABBETNVIN










14







..__..._v_,m-

L
Vi

—T .

.
b
I.__-._.r.- | .










16

14

12

10 -

5.3

I 30

_ / Lew |l

H22 H23 H24 H25















E ) ; 0 |4 -;l:'rlr







